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Guess Paper – 2009

Class – XII
Subject –Mathematics
VECTORS AND 3-D
1.
A line makes angles 60 and 45 with x and y-axis respectively.  Find the angle which it makes with z-axis.
2.
Find the angle between the line x – 2 = y + 1 = z – 2 and x_- 1 = y + 3 = z + 5.
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3.
The Cartesian equation of a line 3x + 1 = 6y – 2 = 1 – z.  Find the d.r’s and d.c’s of the line.

4.
Find the angle between the line x + 1 = y – 1 = z – 2 and the plane 2x + y – 3z = 4.

5.
Find the distance of the point (1, 2, 0) from the plane 4x + 3y + 12z = 16.

6.
Find the Cartesian equation of line which passes through the point (1, -1, 2) and parallel to given line          x + 3 = y – 4 = z + 8.
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7.
Find the angle between the lines: - 



r = 4i – 3j + k + λ(3i + 2j + 6k) and r = 8i – 2k + µ(i + 2j + 2k)

8.
Find the foot of perpendicular from the point (0, 2, 7) on the line x + 2 = y – 1 = z – 3.
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9.
Find the distance of the point with position vector (-i – 5j – 10k) from the plane x – y + z = 5 measured parallel to the line x – 2 = y + 1 = z – 2.
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10.
Find the equation of the line passing through the point with position vector 4i – j + 3k and perpendicular to the plane r.(6i – 3j + 7k) + 2 = 0.

11.
Find the equations of line passing through (3, 4, 7) and perpendicular to the lines x = y = z and x = y = z.
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12.
If the points (1, 2, p) and (-3, 0, -1) be equidistant from the plane r.(3i + 4j – 12k) + 17 = 0 then find ‘p’.

13.
Find the vector and Cartesian equation of plane passing through the intersection of two planes                     

r.(i + j + k) = 6 and r.(2i + 3j + 4k) = -5 and the point (1, 1, 1).

14.
Find the equation of plane passing through the points (0, -4, 0), (1, 1, -1) and (3, 5, 0).

15.
Show that the lines intersect each other; - 



r = -i – 3j – 5k + µ(3i + 5j + 7k) and r = 2i + 4j + 6k + λ(i + 3j + 5k)

16.
A line makes angles α, β, γ and δ with four diagonals of cube, prove that: 



cos² α + cos² β + cos² γ + cos² δ = 4/3
17.
Find the equation of the plane passing through the point (-1, -1, 2) and perpendicular to planes                     x + 2y –   3z = 1 and 5x – 4y + 3z = 5.

18.
Find the image of the point (1, 2, 3) in the plane x + 2y + 4z = 38.

19.
Find the equation of the plane which is perpendicular to the plane 5x + 3y + 6z + 8 = 0 and which contains the line of intersection of the planes x + 2y + 3z – 4 = 0 and 2x + y – z + 5 = 0

20.
If [image: image1.png]


 is any vector, prove that [image: image2.png]


 = (a . i)i + (a . j)j + (a . k)k

21.
If vectors [image: image3.png]
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 are such that each is perpendicular to sum of other two and | a | = 6, | b | = 8 and | c | = 10.  Find the | a + b + c |.

22.
If [image: image6.png]


 = 3i – j and [image: image7.png]


 = 2i + j – 5k, express [image: image8.png]
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